H & 0l & AHS B Ml A

2024 = 208 LEHSIH A=t
SN ASD
M MEAE HEH
&Pl AFHBAHIA MBS (EEEE))
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
A= 585,574 736,733 A 151,159
= 41,530
Al 52,510
- 491,534
HEAS HEPSH 160,287 125,652 34,635
= 41,530
Al 20,010
- 98,747
AFSHEMHIA M2 160,287 125,652 34,635
= 41,530
Al 20,010
- 98,747
A=50F &2el 64,720 93,200 N28,480
201 LEt2AH| 64,720 93,200 N28,480
01 AFR2teltl 64,720 93,200 N28,480
Ogt=2H]| 53,080
— A=A R2U 2
53,080,000& 53,080
o294 11,640
—AFXO R4S (ZIRLE) 11,640
QB2 3|
150,000 & *20H + 13| *B0%<E 24> 2,400
S ELEE
150,000 *7 2 %113 *B0%<E 2> 9,240
ASHEXNRJL LS IIAS=EH| 11,460 900 10,560
201 LEr2AHH| 3,840 3,840
01 AtR2t2lbl 3,840 3,840
Oz | 3,840
— A=Y FAZAH|
8,000 #4H *60 L +B0%<E 2> 1,536
— A=A A
8,000 3 x4 H *60 ! +B0%<E 2> 1,536
— A HTFA LI
8,000 & *2H x60 L *BO%<E 24> 768
202 04| 6,720 6,720
01 2L Y| 6,720 6,720
OARN=HHALRFX Y]
20,0002 *4 2 «42 2 x80%< A 24> 2,688
OAFOIS I R=RIHI
20,000 *4H %42 2 x80%<E 2> 2,688
OAZOHETFY Q=R OfH|
20,0003 #2H %42 2 x80%<E 2> 1,344
203 YR =XIH| 900 900
03 AIZHF=RIAR=AIH| 900 900
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Zu: HEAE BETE
el ASHIAHIA KB EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEECENECEEESS
1,000, 0002 *Q0%<E 2> 900
A= SUE2e 2,557 31,552 A28,995
201 et 2,557 3,043 N486
01 ArR2eltl 2,557 3,043 AN486
Ogusg 2,557
—TEHENH
160, 0003 *2LCH *32| x80%< & 2> 768
—=ADIEH
123,000 1 CH+52 | «80%<E 2> 492
—oIZ)A0E
500,000 *1CH* 13 x80%<E 2> 400
~HEYUB=ART
25,3003 *34} Kb+ 122 x80%<E 2> 729
—AENDUGEEESE
21,0003 * 102 +80%<E 2> 168
St 522 KFAAY 81,5850 0 81,550
= 41,530
Al 20,010
T 20,010
402 QIZ2HRHE0IH 81,550 0 81,550
= 41,530
Al 20,010
- 20,010
02 QI TH2AIE EE(0IMTHE) 81,550 0 81,550
OSIOIE S SZYNR AR
81,550,000& 81,550
= 41,530
Al 20,010
- 20,010
SAIAE 012 e 163,499 347,965 A 184,466
Al 32,500
- 130,999
A=A 94,930 99,690 A4, 760
Al 32,500
- 62,430
KZAAIH sXI2el 2,500 2,500 0
201 2E2Z 2,500 2,500
EEEET 2,500 2,500
OAEBHIR ) 2,500
— AT EN AR KR
250,000 * 1004 2,500
=2eZdnsatel 1,200 1,200
201 2et22 ] 1,200 1,200
01 ArR2eltl 1,200 1,200




of
i’
oF
uJ

-

KIO

Hlw

9,240
9,240
9,150

HMEE
Ofl &k2h

16,990
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9,000
1,600
14,490
14,490

- SRA(3) - HIRAEY

- ESS

S LRE-L

>
>

XDk
=0
X DF
=2

[ *80%<
| x80%%<

3,000& %1004

3

2
300,000& *30&
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2,000,000 «80%<& 2>

100,000& x5H 2
50,0003 x5 #2

22, H10A)
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[

01 AtR2telb]
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0H
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14,000
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N13,292
1,292
1,292
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44,392
44,392

5,608
5,608

11,250
3,240
65,000
32,500
32,500
31,100
15,550
15,550
31,100
31,100
15,550
15,550
6,900
3,450
3,450
6,900
5,400
2,400
1,200
1,200
3,000
1,500

Al
Al
Al
Al
Al
Al

31,100,000
2,400,000

300,000 *10=
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270,000& * 128
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SN 2AST
A TAIA= 012 e
el A=sEFoHd (SH9 H2)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
- 1,500
ogxz 1,500
—SHFDSHYIFYLXR(I2Q)
500,000& *33] 1,500
Al 750
- 750
206 =4l 12,000 14,000 A2,000
Al 6,000
- 6,000
01 =l 12,000 14,000 A2,000
OsgZiIsfxAX=+1Y
12,000,000 12,000
Al 6,000
- 6,000
301 LPENZ 15,000 15,000 0
Al 7,500
- 7,500
14 J|EI2 A3 15,000 15,000 0
O=dssZdlssNE43
15,000,000 15,000
Al 7,500
- 7,500
SAZZ A 68,569 248,275 A179,706
SAEZ e 43,569 46,275 N2, 706
201 Let23| 15,631 20,575 A4,944
01 ArR22lt| 7,8% 14,760 26,864
Oo2g=¢ 6,360
—Z2 A Ao E 3,960
==
100,000 *33E » 13| »80%<E 2> 2,640
= 50,0003 *33H * 13| *80%<E 2> 1,320
—S30XeIL 23 Mol E A 2,400
2z
100, 0002 * 10 #23| »80%<E 2> 1,600
=1t 50,0003 * 109 23| *80%<E 2> 800
O=&l 1,636
—ZAIZ2HIS A
8,000 *4H x60 2 +B0%<E 2> 1,536
02 33244l 7,735 5,815 1,920
O33L2YLHA 4,535
—SC|HSLMNE LS SYOHHEX &
HIIR= 80,000 x4 A= 12 3,840
— S XSS A 694,500 695
OA&EHIR Xl 3,200




SN HED
M TAIZE 012 OHA
=Sl TAIZ2 OHd (SH9 H2)
SA - B - SRUBH) - MRAR - BAS ofl &t A HIDEZ
—Eel¥ =L EN YT H SR 2
800,000& 800
—FEAMBAE SR A2
2,400,000 2,400
202 04| 2,688 2,688
NETET] 2,688 2,688
OZAIZBARERO0Y|
20,0002 *4 S *42 2 xB0U<E 2> 2,688
203 R =2IY| 450 900 2450
08 AR = DAY 450 900 450
ENEENETEES]
500, 0002 =90%<Z 2> 450
401 AIZHIX 20 24,800 24,800
01 A28l 24,800 24,800
OEHOIZNE AL 24,800,000 24,800
NEs SctHEANY X1 AG(F =LA 25,000 25,000
401 AlEHIZ SO 25,000 25,000
01 AlZHI 25,000 25,000
OLctEAEAN 2R L (L E258812)
25,000,000 25,000
HH2AZHI(ASF) 261,788 263,116 N1,328
el 23 243,118 218,423 24,695
eIg =3 243,118 218,423 24,695
101 e124d| 243,118 218,423 24,695
01 2= 50,431 55,787 A\5,356
OAlLRAZ 25
11,3192 » 13 #35A1 2H+ 12 » 1. 02+80%<E 2>
50,431
03 SR (RINAHA) 222+ 192,687 162,636 30,051
OSYHZISTHILABIASSIHI(4Y) 192,687
—Jlzs 2,217,810& «4H« 122 106,455
—a0= 2,217,810 »4E +200% 17,743
—=22= 16,8883 x4Z x1.5+120A1 2t 12,160
—522PE
17,4602 x4 A 251, 5+28 »48L 10,057
—AReERtE
17,4602 x4 +BA| 2tx202 11,175
—gd=2=E 356,336 x4 H*23] 2,851
—=Etl 140,000 x4 * 122 6,720
— S| 140,0002 ~4& « 122 6,720
—HF2E 60,0002 x4 =122 2,880
—gyag 50,0002 x1&8 122 600
—SEFOHI 2,217,810 x4 B «60%*22] 10,646
—JIE2d 4,680




SN AST
M HZYRAZHI(AZ)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
BN, 40,0002 x38 * 122 1,440
I PE 30,0002 x3& 122 1,080
- SMAHA 70,0008 x 18 x 122 840
- SURH KA 110,000& x 12 =123 1,320
=3l 18,670 44,693 N26,023
Jl=3H] 18,670 44,693 26,023
201 er23| 12,527 23,019 10,492
01 Al22t2lH] 12,527 23,019 A10,492
OLer+EH| 7,260
—2N2gLE|
9,680, 0002 *75%<& 2> 7,260
@=1] 2,151
—FA2ELRFIUSAI
8,000 + 14 24 2 «80%<E 2> 2,151
Oogxz 3,116
—dR=ADIEXE
105,000 *1CH* 12 1,260
—SIIEEIIEXE
32,900 =3t =122 1,185
—gd=JIE = 44,900 x1CH* 122 539
—JtEEH2IIS RS
11,0003 =104~ 123 132
202 04| 2,543 18,524 15,981
01 =LHOLI 2,543 18,524 215,981
OU=HHS LRGP0
97,4003 4 3L x22| «80%<E &> 1,871
OFAEIERFA0
20,0003 * 14«32 +80%<E 2> 672
203 HR=4AY] 3,600 3,150 450
MU A2 LRSI 3,600 3,180 450
ORAMEZE =4 300,000& * 128 3,600




